CBSE Class 12 Political Science Compartment Question Paper 2017 (July 17, Set 1- 59/1/1)

SET -1
Series : GBM/1/C =T 59/1/1
— Code No.
N qieaefi shig i IT-Y&Teh1 o JE-T5S
39 o1 |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

® HUAT I HLA foh SHIH-TAH YGd TS 127 |

® TI-UH H glig- 81 <hl 3R TEU TTT hIg FrI <hl BT It-J TRl o JE-T53 T o7 |
o FHUAT TG H A fh 30 IH-TAH 27 T £ |

® HUAT Y3 I I TG TE HTH 8 U8, W 1 HHTeh HIvF ford |

® I YYH-UA hl UG o 1T 15 THAC 1 T8 TS 71 8 | T9-93 o Toaior gaig o 10.15 &t
fohdT STTET | 10.15 &1 & 10.30 ST doh BT hdel T3-T bl Jeil AN 39 7G4 b G- o
FA-YIETehT T I I A&l for@ |

e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at-10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

SEIIGRCRIC]

POLITICAL SCIENCE

fFeiiRa @a - 3 T2 371 aq 376 - 100
Time allowed : 3 hours Maximum Marks : 100

Wﬁéﬂ:
(i) G ¥eT AT E |
(ii) FTGEIT1 -5 TF 9% J97 1 37 HT & | 57 Fo1 7 Iedeh 37 20 Jeg] & 3717 787
&1 =15T |
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(iii) 397 G&IT 6 — 10 TF J9F T97 2 HHl &7 & | 37 91 7T I I 40 Jsg] G 371
7&] &7 5T |

(iv) T G&IT11 — 16 TF T J97 4 3l BT & | 37 F¥41 &1 I&3% I 100 35T G 3778
787 &7 F1137 |

v) T GEIT17 @21 T JA9% J97 5 3b] H1 & | 57 I91 7T I I 150 Feq! & 3718
781 BT F115T /

(vi) 3o G&IT 21 HAIEH R STEIRT 97 & | 5G] TR 3941 I -GI&deh] H [e71&T |

(vii) 97 GEIT22 T 27 TF TP J97 6 37H] 71 & | 57 F571 HT Y% IT 150 3r6] G 3716
&1 &17 &Y /

General Instructions :
(i)  All questions are compulsory.

(ii) Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii) Questions number.-6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-

book.

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.

. 2fd g o SNH SIS TSI 1 Tehel Teh HRTTh o A1 §Y G I I3 Teh HIUT [T | 1

State any one reason for the smaller states to remain tied to any one super power

during the Cold War period.
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2.  TEIRGd H W hiH 91 YA T3 Tovd FaedT o T B o R J T 8 7 1
A.  Hod I AR hieh hestl hid oh GITd, ST bl Ueh IT(th o &Y H IULAT |

B. Hifdad 99 H ‘HHSEE 1 hHSR IST |

C. 3fid Jg o A vl Judl & §1¢ TYeh TP 1 o1 TANT hich had bl b hid I
o |

D. Hiiddad 99 &7 fage |

Which one of the following statements 1s true about the beginning of the ‘new world
order’ ?

A. Emerging of Iraq as a power after 1t invaded and occupied Kuwait.

B.  Weakening of socialism 1n the U.S.S.R.

C. The decision of the UN to get Kuwait liberated by force after years of deadlock
during the Cold War.

D.  Disintegration of the Soviet Union.

3. 19719, T B3 1 910 fopuA fear 3t e ? 1

In 1971, who gave the slogan ‘Garib1 Hatao’ (remove poverty) and why ?

4, S HGIEH] shl SATAIFhT o J&T H I3 Tesh IUITH deb STy | 1

Give any one suitable argument to support the need of popular movements.

5. 2014 % e @97 IAEN H YA ST 91e1 (WTS9T) ehi A%eAdl o o, HATqeh foai |
hI 1 heh &I &Y H IR 8 ? 1

In your opinion, which 1s the major factor responsible for the success of Bharatiya
Janata Party (BJP) in 2014 Lok Sabha Elections ?

6. ‘ATl @ Tohgl IR TCHT ¢ oh A1 TRIT | 4x V=2

Name any four member countries of NATO.

7. ‘ETSH W A3 ST 39 90N o THYT T i3 Gl 3GTaL0l GI9TT | 2x1=2
Give any two examples to support the concept of ‘common but differentiated
responsibilities’.
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8.  JAIhiul + Tohl TehR favaraamdt 39H! [T Ugr fohar ? 2

How has globalization created worldwide interconnectedness ?

9. FH ‘A’ h HAHIA U T AAT3A 1 G ‘B’ H U MU Terifeaeh geti @ T&l firem Shifse

4 x =2
Tl - A Tl - B
a.  Hl. TSR i WA e
b.  IIAHI YEIE J@SIi ii. G hEYHE U
c. IEE TG el iii. &aA ardf
d. W.sh. MU iv. giEfeee ardl
Match correctly the leaders given in List ‘A’ with the political parties given in
List ‘B’ :
List— A List— B
a. C. Rajagopalachari 1. Bharatiya Jana Sangh
b.  Shyama Prasad Mukherjee 11. The Communist Party
c.  Acharya Narender Dev 111. Swatantra Party
d. A.K. Gopalan 1v.  Socialist Party
10. e THRugrAnshl i =, Tohe &I TLTehl H WA hi SATHTIwId TR ? 2x1=2
In which two ways did the policy of Non-alignment benefit India ?
1. = 91k oh &Y H 3H{h T=E hl AT HINT | 4

Explain the US Hegemony as a hard power.

12.  IfC G TP ST shig JAUY TS &l aldl, ql 38 GrATIod qRums 1 8id ? Tl
al Teig3i <hl AT <hITTT | 2 %2 =4

If there had not been any international organization like the United Nations, what
would have been the possible consequences ? Explain any two points.
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13. Al s 916, WA H USAT o GG <hl JlshT 3l GUM HITT | 4

Describe the process of reorganization of states in India after independence.

14, W{RA hl GTHTY] Fild T FeATeh I | 4

Evaluate the nuclear policy of India.

15. Gictd 9o ohi Tohral &l TMATIS] shl SATEAT iU | 2x2=4

Explain any two activities of the Dalit Panthers.

16. WA TSHIT | 1990 b €31k bl fohrgl I Hgcaqul =131 bl GUMH I | 4x1=4

Describe any four important developments of the 1990s 1n Indian politics.

17. fo=ferfgd 3tadwr sl &9 9 gfeu 3R i feu 71U g9 o 3¢ fafgu - 1+2+2=5

QI TETRTIREAT Tereel o T~ T8 9T 319 TS 1 G S o To1T doil g3 i | g
gl 721 °h o9 §gd T8 &9 § 9 T2 o7 | UH § TohHl Hooh o oI Ueh Tl Ig AT Toh 8
U1 GL&T b 118 fhEl Teh HRTWTIh h |1 JS1 & 3R gEdl HRTRIith a1 38eh T[E o oI
h I9Td | & 9b |

(a) 379 SIS & bl foqd i ohl $TGoh GIHI HERIRAT Shl TG hITTT |
(b) I HRIRAH < sl fored 1 TI8 SR 1 3T ?
(c) Ml ST b T1Y, YRA o IMUA T BH b Gl &I HRUN el T HITT |

Read the passage given below carefully and answer the questions that follow :

The two super powers were keen on expanding their spheres of influence 1in different
parts of the world. In a world sharply divided between the two alliance systems, a
state was supposed to remain tied to 1ts protective super-power to limit the influence

of the other super-power and 1its allies.
(a) Identity the two super-powers that were keen to expand their area of influence.
(b) Why was there a sharp division of the world between the two super-powers ?

(c) Explain the two main reasons for India’s not joining any of the two alliance
systems.
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18. Ta=forfga g =6t sa= 9 uieu 3t = feu o g9t o 3w fofaw 1+2+2=5

“fopdl i THTSI H s TG BId @ | 9eh] JTTHIATY FhE HA HTT HN Th GH
foo{ia 2t € | T8 H 29 39 MU TohUal ¥ < fue "ehd 8 7 SH HaT 1 9T § —

ArehdTizeh TSI |7 I 3R Tfaeaert TSI <hl € Tad STel el =9 8 | @l
ST ITdeh TS T 329 SHIEd skl HHAT T 3T 39 T 30 H{AT BidT & 3T UHT
g1 Y =TT | AR ATl 3 36 T 1 I 1 Hoer fohar |

(a) R Tt § UF fopel < THET i UgeT fSeh! STt 7T 3T W] Ueh
T foadia & |

(b) TAThATEh TSI fSdTGl bl HASTH o [0TT g Tdehed T hidl & |’ 35 HUF
T4 T o T =g Teh IGTELT ST |

(c) TdHH WA 9 ThR o Toheal ¢l U hl Y& shifold Sl SHied H & |

Read the passage given below and answer the questions that follow :

There are different-groups with different and conflicting aspirations. How do we
resolve these differences ? Democratic politics 1s an answer to this question. While
competition and power are the two most visible things about politics, the purpose of
political activity 1s and should be deciding and pursuing public interest. This 1s the

route our leaders decided to take.

(a) Identity any two groups from Indian society which have different aspirations
but opposite to each other.

(b) Give any one example to prove that democratic politics provides alternatives to
resolve the contlicts.

(c) Identify any two decisions taken by the present Union Government of India
which are 1n public interest.
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19. fa=farfga smaawe &6 sa= 9 gieu 3 = few e g9t o 3w fofeu 1+2+2=5

{Td HHATT 6 oy H TrIf-2d TP G- FiHld = 1Td hHETIT hl TP gediel
Bl T TohAT | SHE 3T |1 | Sl 3l b T H 371 HFT bl bl TR UL goTd
M o ToT¢ gSdTel 1 I TG TehIT AT AT | TR 39 T o Rae™h A | U5 4 9
o aU ¢ e ITH o HHARI, 8 1974 H FSdTdd W I U | I HHATT hl
FSATl © HSIGU o SFAEAY hl ST 0T | 36 §SdTol 8 HSigU o N I8 HEl i 38
&1, I a1 i 331 Tob a9k 913l | IS 8T hHARI 37U HFT hl iohl dSdTed i
Hehd & AT 74 |

(a) 1974 H g3 {cTd §SdTed 1 Adcdl i dTed AT bl 9717 T7RIT |

(b) TTHR ESATCA! HHATNIT ohl BT o fog w1 A ? i € RV TF HITT |

() I JTLIh HATH H g HSIgU H HHATI! i ST hid hl A Bl
FTET. 2 379 I o6 J&T H IUITH deh ST |

Read the following passage carefully and answer the questions that follow :

A call for nationwide strike was given by all employees of the Railways for pressing
their demands related to bonus and service conditions. The government was opposed
to these demands. So, the employees of India’s largest public sector undertaking went
on a strike in May 1974. The strike by the Railway employees added to the
atmosphere of labour unrest. It also raised the 1ssues like rights of the workers and

whether employees of essential services should adopt measures like strikes.
(a) Name the leader who led the Railway strike in 1974.

(b) Why was the Government of India opposed to the Railway strike ? Explam any

two reasons.

(¢) Should the workers and employees of essential services be allowed to go on

strike ? Support your answer with a suitable argument.
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20.

S TEU TTU e Bl SIS TEIIA hilore aT FEfeiRgd Jei oh ITLGINT: 1+2+2=5
(i) <HI e fhH eo & FafRa 8 7

(i) 9 3 ‘AT’ b o 39 <A hl U AIfd T g ¢l 3T T ST |

(iii) epTeA H QI ITT G = 35 < shl JTUSGEYT hl bl 1Y UG ?

LITTLE (=g CAPITALIST
RED

"POWER o, od
TIE™ me ‘

Study the Cartoon given above carefully and answer the following questions :
(1) Both the Cartoons are related to which country ?

(1) Bring out any two differences in the economic policy of this country between
‘then’ and ‘now’.

(1) How has the change shown in the Cartoon benefitted the economy of this country ?

e :  TAlaRad T34 ot giaTiea TherTiR o ot S99 @1 20 & TIH W -

20.1 TIH-UST LRI o 30 TFUd 1 719 foifgn ae vget @€l Ig 1 T
T <h! & |

20.2 ‘IR I TRHTRG HiToT |
20.3 UH Q9N o A foriau ek faeg 3mfent 3 319+ @=1 ifes =61 9= feman
TR 2

Note : The following questions are tor the visually impaired candidates only 1n lieu
of Question No. 20

20.1 Name the President of the United States who had won the First Gulf
War.

20.2  Define Hegemony.

20.3 Name any two countries against which the U.S. used 1ts military power
and why ?
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Zl, 58° 720 76° 80° 84° 8g° 92° 96° 100°

36° 36°

: 32#
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280 28°
24° 24°
20°
16°

16°

1z°

7 dug 76° 80° 84° 88° g2° 86°

feu 7w g & W@Er-aEE 1§ aiE == a6 (A), B), (0, (D) 3R (E) g faf=ga feban
g | e @ g S % IMUR W, $= TgAT-d 3T 370 IT-YfEdeht | 3 Fal 7,
T <hl 713 TR shl sHH T&IT AT T [-Ud 318 hl ¢f T3 dlfciehl h ®UH fIRGT: 5x1=5

TN <h1 TTg ST RI bl 3hH T qrE i 318 TS T 9

(1)
(i1)
(iii)
(iv)
V) . , .

(1) I8 UST YR 1 81 UsT AT &l 1957 T Uged! TR-hIE TehR &1 |

(ii) I8 TSI YA HghRl G TNEH T FH [ 3 |

(iii) IR YR o 9 TS ol 1947 H Ta9TSH o THA, WA 3T qTiehid™ o s ST 737 o7 |

(iv) 39 TST ] 3=¢ 370 o A (oIS eIl Y& Teha 73T o |

(v) FIE TSI 1987 H ITISd g3 T |
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21.

S59/1/1

68° 72° 76° 80° 84° 88° g2° 96° 100°

36° 36°

: 32#

ﬁﬁ

28° 28°

24°

24°

20° 2Q°

16°

16°

1z°

7 dug 76° 80° 84° 88° g2° 86°

In the given-political outline map of India, five states have been marked as @,, ,}

@, @ and @ Identity these states with the help of information given below and

write their correct names 1n your answer book along with the serial number of the
information used and the related alphabet as per the following table.

Serial No. of the Related Alphabet Name of the
information used State

(1)
(ii)
(iii)
(iv)
(V)

(1)  This state was the first in India where a Non-Congress government was formed
in 1957.
(11) This state 1s the birth place of Amul Dairy Co-operative.

(111) This Northern State was divided between India and Pakistan at the time of
partition in 1947.

(1v) This State was given a special status under Article 370.
(v) This State was formed in 1987.
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e : fAfTRad 9 hael GRS TR o6 7w, 97 T@AT 21 & WH W E -
1+1+2+1=5

21.1 o9 9T TS 3T T H 37T shish ST T-IT AT 7
212 A9 YA o " TSI H, TgcA! TR—<hTIUHT TThI g1 off ?
213 Tl YRa s 9 € T s T ¥, = 1947 ° 99SH & T9I 9Yd 311

UTieR&dT b o1 Tk TohaT 77T o 3T RIT ?
21.4 wdAd1 9 Ugd, forg qoifass eo 9 Teus w1 fagra feaman 7
Note : The following questions are for the visually impaired candidates only 1n lieu

of Question No. 21 :
21.1  Which State was carved out of Uttar Pradesh ?
21.2  Which State of free India had the first Non-Congress government ?

21.3  Which two states of British India were bifurcated between India and
Pakistan at the time of partition 1n 1947 and why ?

21.4  Which political party gave the ‘Two Nation Theory’ betore
independence ?

22. 39eh fo@R 4, ¢ U ATeie 379 fohd HHT deh 3TITERTh & ™1 &8 7 39 3L oh
qUYT T Teh T&d shiWY | 6

COE
I3 UH oI UM Gegd 118 FlferId ¥l bl foeed § S Sl Hehdl AT | 3x2=6

In your opinion, how far has Non-Aligned Movement (NAM) become i1rrelevant
today ? Give reasons to support your answer.

OR

Suggest any three measures which could have saved the Soviet Union from
disintegration.

23. T I TR gRI 331U MY, fohegl diH T heHl ehl TEAT shitT, T8 T 31eaae
Bl 3T B3 | 3Ix2=6

3TET
UTfehedT= H Sl b §1¢ H, J&l UL AT 3 SAlhas shl YiHhT sl TIF HIT | 3+3=6

Explain any three major steps taken by the Chinese government which led to the rise
of the Chinese economy.

OR

Explain the role of military and democracy in Pakistan since its independence.
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24.

25.

26.

L1

S59/1/1

U s 3R TR-UTE {eh YLl o o< hig diF 3Tl Y hIT | 3x2=6
3TET

Jiq TYh! TYth UY el TEEHT H WA 1 TldHIUE hi 1 JTE THeA, d1 3719 TI<h TP
bl LT INNE T A hl TARIT ST o 17T ahIH & dH T&I doh oIl ? AU |

Explain any three differences between traditional and non-traditional security.
OR

It you are given a chance to represent India in the U.N. General Assembly, which
three main arguments would you give to support India’s candidature for the
permanent membership of the U.N. Security Council ? Explain.

TATEu Taar o Tohegl v dfaeh el ol Sectd hitaT | 3 Hel o TuTaH & A db

i W I fhT MM E ? 3Ix2=6
COCH

AT TeRUT o Tehegl i —d 9 TehRIcHeh qT TehRIcHeh TIUTTH] hl GUM hIToTT | 3+3=6

Mention any three global 1ssues of environmental concern. What efforts have so far
been made to tackle such 1ssues ?

OR
Describe any three positive and negative consequences each of globalisation.

1975 Y UFR ATk TNSd i oh foheal IR ST o1 faveryor hifsre | 3maes fe=m o

374 9 S 9 R0 FAFETd & 7 4 x1Y% =6
31T

1969 | ShIUY TTet oh TaHTSH o Tl 3TerR fohmal oiF sitehl ol fagemor hifsu | 3x2=6

Analyse any four reasons for the declaration of National Emergency in 1975. In your
opinion, which reasons are justified ?

OR
Analyse any three factors responsible for the split of the Congress Party in 1969.

THST =131 AT <hl Tohegil =T HFT Bl JUM HITT | 4x1% =6
SN
ST -ShH R ! Fay W TSI o fehral ©: RN o IeoT@ hITT | 6x1=6
Describe any four demands of the Narmada Bachao Aandolan.
OR
Mention any six reasons for the conflict-ridden politics of Jammu and Kashmur.
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